MODEL 757 OCTAL MULTIFUNCTION LOGIC MODULE

( Front Panel Description )

Standard # 1 NIM Packaging
 in accordance with TID-20893

Four Position Switch Selects -
an Octal Quad Dual or Smgle
Channel Operatlon o

= TWO Logic Level LEMO' Inputs :
Negatlve NIM or F’os;tlve TTi.
NIM=50: ohm TTL—500 ohm :

Two Palrs DoubEe Amp[;tude Brldged

NIM Outputs -32mA (-1.6 Volts into 50 -
ohms .8 VoIt mto Two 50 ohm Loads)

- LED's (7) Between Channe]s :
End[cate Wthh Sechons are
Loglcai]y Llnked

: Two Doub!e—Amplltude Complemented
; Bridged NIM Outputs “32mA(+1: eV into
50 ohms, .8 Volt into Tyvo_5___0 ohm Loads)

N]M Vol’fage and Current -
Requwements R




weut 1 (' -
i
cro 2835

CHRNAEL ) 017

A
LIE agnsar
21 2

=V a6l eva(lILCAUERT={I 10}

025
2458

meyt 2 LJ L

g
i

b2
2415

HPNT » L
o ol
A Ta3s

CHANKEL 7 4
2535

ua
w1y Ap9es?
27 wPe
¥ a[6)4V=EEONEND {3 M)

036
535

wEUT 7 » tal

21
00

g
wror o (#

a
egu EERES

thanNEL 3 a,

[
39 AD5ERT

27 oinls
=¥=ft}4ve{RLCOUCHDa{3 4]
2™~

o
s 4

]

weot 7

-

Tl

L
:.‘tw

wFUL -
(T} o1r
£80 s

N & b2

T fljj
; &

WM

Wh3emy

Abats

e wPi
~Vags)eva Il COMLKD{ 303}
af

He
yar 3

w2

@i
430

;’;—c cua_te
e
Fiz
S ) 7
T)iﬂ

I——-C vim

"

<

ELTT

CHANMLL 3

WEYL ¥

wput 1

CHARAIL &

wyr g

wET §

CHANRTL 7

woyr ¢

w1

CHANKCE &

wry

/2t
td

uis

Ap§5A?

aiPit,

-V A{6)4V={ILEOVTHD={3.10)

R
00

{13
2855

[
2835

u

o

¥
&

=4
=

¥

=

Rt
£an

A1
(11]

m
28 Lo

IRt
“¥a(€),+ V2 LINCQUGNDn 1.1

2 th_e
o

TR

o

(7]
1338

(o

b

RE
T

o1E
EEE

o7
3%

i 1 ¢z
o

Gd—o §

P
R {G). b [IDLONCHD= (3 15}

g

ui
"1 103587
27

a57
2838

o ons_ot

S e
et

o

el
n

-
Gt

PHILLIPS

- SCIENTIFIC

MODEL 757
OCTAL MULTITUNCTION LOGIC UNH

DATE FILE

49-18-02 REV. D 757




sz 2= > a2
553 a FE-3
TETR i Al
m E12 233
110 4
e PR 43434 ut
iemor
113
u ores
CH-t
s 3
PaLIGHTLVA i
it pID com—
- sve{ N
COMENDa (1) M cH-?
oL w I CHed
Chz_zi B L oirft Ch-3
CH3 2 - Hars ezt
cm_w:»u—o“eJ Zdre osa 4 R Yo [T
tHY_pr £ 26 1 by ops e I S
eHE_mr T - w1 L 7
CHT o [ oo el
Ll W sy ofy [ 136
y sz
W
N
L 1]
. e -ICHeS
-5 ;
—op—u) b en o £33 % age R8s Crse
35 anr A 12 2K 2 LI
cHis na mEs
pI —r : D S WY
- 7 ==
s —-®
I k= 7 G nom 8
-5y .
* - CAcHed ® REY R
) St o B N TN S N - —. 1
epr W o o [ . e "
aro ol P u? 1
R R EEE T T \] - W W
nrzx 2222 e o A | 1
BRI < & w8 wOUIRY 320 I HH B e o
. Satin BN | W, i)
" ag3 478
g gk g v 02
ICI: &5l g FLO
l’u
4E R
37 awegs 57 purtw
19 an
257 fuptw 35 Jowstw
i n
[ + aeta
a1z m
5" Tk & punes
138 s
P RNALR & RUFER
10 a3
v iwere o Rurge
a1
R R 5 abeee

TPRICLIPS . SCIENTIFIC

MODEL 757
DCTAL MULTIPUNC TIOR LOGIC UMY

DATE FiLE

09-18-07 REV D

15702




P i § | i H i j H J "
ot out g oyt our T out ot & out aut aur
P -
(- - . » — . [ -\g} » —e M@
; a9 6103 %7 Ry 67 €7 ‘l? w105 é
() 1] 10 (£
31 an7 #83 B &3 oy "4 w3
22 51 17 51 12 51 22
053
813 2813
¥_£LaM C— P v CLaE J_ [
o35 fg 5 Y [T DEs SRIze
2 i +
i R o 4238 237 xhre. 07
7 & & D I Q‘\
05 an N 223 ) 63t
KPR HPR HPK HEHR KRN ApHR
501-73 $07-23 s0t-23 50r-23 ca1-21 w0r-23
a5t k1 RIS 204
00 208 208 00
Rie E] Rl At LHY Riss & LD riga < AT & pas X aigs R202 < B21 RITS
15 o e 15 Ed [ ¥t 155 B8l WL b 18 5 BEl
T sun swr 3w
CH=3 B T CH=3
et THe 3
v -3v sy
J.czl J,:.w J.cu _].cl
g W ‘ln“m l iy lm
con aut on aul
s
(o—— i {m- .
T L
bl by
R w3E L
12 17 (N
[rs LTt
2838 HEE
it A O + e CRSTUE = >
j_cu ] ] .i_c“-‘s
H r SIER 33 RISD
Aag, sov 8, = T 5
1 -
s R202
ad
I—--ww
RIE 2 RIS RILD :ZL:: Rz R1D8 & Y EME Y Ri5Y LT 2':.5 Aist R130 < RIIE L EIIE
1 9y . 5 . v.
Lt D}_ 1% a1 S“Ol" 1 " L) Hasy L1 !ST SVD‘, 0 91 155 ksllsm
e T i i ] cH-d I I ]
LIS e 1 T t CHel [ 1
-5y < -5
ic:—: .L.:u ic:t i.can
I W ]\; W 1 I [
PHILLIPS - SCHENTIFIC
MODEL 757
U TAL MULFIFBNCTION LOGIC OHIT
_LDRTE PILE
REV D FHI03




ool out Gt Gy o ar ouT on &ar o out
—
. — - . - . - o) ‘a) - o
AA3 K0y % HAS é RI05
) 10 ) ]
w5g eyt mg RUS a7 AL =i ez
72 51 tes 17 31 225 51 62 22 5t
2835 7833
¥_CLaue £ l P v_CLawE ot
o iclv
11 D6
T 135 337, gmey w 1255 ko oo San
‘ili » 1535 Sa¥ > HItE <t 7835 Ze7
) 025 Q17 033 o 011 am 015
MPN BAKR HEH KFiE LI HANT HPEE WPNR
587-21 507-73 501-33 s01-23 s0i-73 50713 £01-23 §p1-73
55 7201 157 #2053
200 100 200 jod
#1354 b1y i3 e RIS 2 aar g P & A718 < K227 it R RiEs Fn3 Bl aug e nuy EHT P
250 [} 1] 155 Eal o 3 ¥ 5% 6k 390 5 al 152 4 258 15 9 [
E 0 sun 5up
CH-3 - CHaT L i t *
cHis O Che T = I T
lew 1
Lew Len
l‘.&’ i 1; it l e
ot T ouT ot our T [ out
— — — —~
N I A i
JJ_ LED 2—: CHH ; Ll
th e ®
L3 N RIB CIT] R1QY LY
11 5 77 ) N Tz 51
843
H
v LbAuE T LG [T ? - 23
—
lu- J_c:o
] ey
I'” oes ks I’” 2835 {css %wi:s don LR
N s s & 2834 4T 35 a7
, - 1)
L7936
R
sot.ps
R7od nns
i) a0
R1ab < Rig o RiCE RILE < Frdg R317 | RO RIS AT ¢ RS0 RIEE Rt < B2 2 gan o wise Rl R237 € 8250
IR a1 355 * 3t AL b " 155 &Lk ow kg 9 LR 111
| [ 11 =T
theg [T [N Y=t
Ched g : RS = ! } i
1 4 -5y
j.l::s .l. _].c.‘s _E.cls
l.lu l liu l u
PHILLIPS ~ SCIENTIFIC

MODEL 757

G Tay RUL T

FUNC O LOGID U

DATE

fiLe

04-15-02

REV O 15704




L) 01
s <PW-303 B0+

N
g " ;'r_; I A t;lé‘?v}-
E.W,J pa— g(t . F o] . s

H ¥ i
n7-n { § 5 £z &7
warg P13 S _l::nmmsv ’lum'm -
.
R247
Gar
207
sy 5 AMFER
u vIH
Q72
i
w283 e .
u e 42 Va(d),syuig)
" mRuCTOR % _ )
mu MF - l A — i
(31 .],cu i70 o3
R231 5 R
'lnwmv l;mumu L) ‘lssu-wv
-5%
23
Ly
WOUCIGR 24
-2 P17 - A
EROWN a s
Len %
.lz:»oumv
R14E
Ly 22
a1 WEIC T OB 5:3
wargr 7 : ~
ius
lh:wus\(
Ly 07
T HRLCIER sada e
) v i . ] - yuk
o J.uz _L ? B
L ‘lcey . g
Iﬂeuim 126Guey ‘g‘,’é “ve{i)evain) =P
~ (¥
! I T R A Iy
™ > =‘."n
TawEL ACTuER b o s p; ;

maee FI7Y "'ﬂ R

TPHILUIPS L SCIENTIFIC

MODEL 757
0 TAL MUL FFURCTION LOCIE gl

PATE FHE

09-1R- 00 REV B 75705




MODEL 757 PARTS LIST Rev. D

Ident. Oty. Part Number Description
Ri-16 16 (00106800 680 ohm 5% CF 1/8 resistor
R17-24 8 001022R0 22 ohm 5% CF 1/8 resistor
R25-32 8 00104301 43K ohm 5% CF 1/8 resistor
R33-40 g 00103900 390 ohm 5% CF 1/8 resistor
R41-44 4 00105101 5.1K ohm 5% CF 1/8 resistor
R45-52 3 00106801 6.8K ohm 5% CF 1/8 resistor
R53-56 4 00102201 2.2K ohm 5% CF 1/8 resistor
R57-63 7 00101001 1.0K ohm 5% CF 1/8 resistor
R64-70 7 00101R0O0 1.0 ohm 5% CF 1/8 resistor
R71-78 8 00102R20 2.2 ohm 5% CF 1/8 resistor
R79-86 8 00101R00 1.0 ohm 5% CF 1/8 resistor
R87-94 8 00105R10 5.1 ohm 5% CF 1/8 resistor
R95-102 8 00T02R20 2.2 ohm 5% CF 1/8 resistor
R103-110 8 00101R00 1.0 olun 5% CF 1/8 resistor
R111-118 8 00105R 10 5.1 ohm 5% CF 1/8 resistor
R119-134 16 001047R0 47 ohm 3% CF 1/8 resistor
R135-142 8 00103900 390 ohm 3% CF 1/8 resistor
R143-150 8 001015RO 15 ohm 5% CF 1/8 resistor
R151-158 8 00102000 200 ohm 5% CF 1/8 resistor
R159-166 8 001091R0 91 ohm 5% CF 1/8 resistor
R167-174 8 00I0ISRO 15 ohm 5% CF 1/8 resistor
R175-182 8 00706810 681 ohm 1% SMD 1/8 resistor
R183-190 8 00103500 390 ohm 5% CF 1/8 resistor
R191-198 8 001015R0 15 ohm 5% CF 1/8 resistor
R199-206 8 00102000 200 ohm 5% CF 1/8 resistor
R207-214 8 001091R0O 91 ohm 5% CF 1/8 resistor
R215-222 8 001015R0 15 ohim 5% CF 1/8 resistor
R223-230 8 00706810 681 olun 1% SMD 1/8 resistor
R231 1 00000000 Resistor Trim
R232 3 00101600 160 ohum 5% CF 1/8 resistor
33 1 00105101 5.1K ohm 5% CF 1/8 resistor
R234 1 00104700 470 ohm 5% CF 1/8 resistor
R235 1 001033R0 33 ohm 5% CF 1/8 resistor
R236 1 00000000 Resistor Trim
R237-238 2 00105101 5.1K ohin 5% CF 1/8 resistor
R239 1 00104700 470 ohm 5% CF 1/8 resistor
R240 1 001022R0 22 ohm 5% CF 1/8 resistor
R241 1 00252210 221 ohm 1% CF 1/3 resistor
R242 1 00256810 681 ohm 1% CF 1/3 resistor
R243 i 00000000 Resistor Trim
R244 1 00342R00 2.0 ohm 5% MOF 2w resistor
R245 1 003443R0 43 ohmm 5% MOF 2w resistor
R246 1 00342400 240 ohm 5% MOF 2w resistor
RP1-2 2 00803300 330 ohm SIP resistor network
C1-36 36 10151003 .1 mfd cer mono capacitor
C37-39 3 10813305 33 mfd @ 10v tan capacitor
C40 1 10514706 470 mfd @ 10v al el capacitor
Cdl 1 10612207 2200 mfd @ 10v al el capacitor
C42 1 10514706 470 mfd @ 10v al el capacitor
C43 1 10612207 2200 mfd @ 10v al el capacitor
C44 1 10522206 220 mfd @ 16v al el capacitor
C4as5 I 10541006 100 mfd @ 35v al el capacitor
C46 1 10151003 -1 mfd cer mono capacitor
C47-48 2 10622207 2200 mfd @ 16v al el capacitor

Page 1 of 3



MODEL 757 PARTS LIST

BRI

Ul-4
us
Ue-7
Ug
ue
ul1o

J1

12
J3-12
J13-17
J18-37
I38
13%-40

Qty.
32

7

32

Part Number
20202835
21000003
20202835
20005404

24003504
2420NPNO
2420NPNR
24003906

15000000
15500004
2030BL0O4

30509687
360H20P8
3510H101
3650007A
3020712J
3010337K

00010100
000106200
00010250
00010400
00010500
00010800
00011000

Description
Schottky diode

HLMP-1340 LED (R)
Schottky diode
IN5404 diode

2N3904 NPN transistor

NPN (SMD) (R2) transistor
NPN (SMD) reverse transistor
Z2N3906 PNP transistor

Power Inductor
Power Transformer
KB1.04 Bridge Rectifier

SPT9687SIN Honeywell Comp IC
PALIOH20EVS-4 IC

10H101P IC

PAL20L8 IC

ADTI12IN Op-Amp IC

LM337K TO-3 Regulator

0 ghm 1" jumper
0 ohm .2" jumper
0 ohm 25" jumper
0 ohm 4" jumper
0 ohm .5" jumper
0 ohm .8" jumper
0 ohm 1" jumper

Page 2 of 3

Rev.D



MODEL 757 PARTS LIST Rev.D

Ident. Oty. Part Number Description
1 40000008 8 Pin DIP Socket
6 40000016 16 Pin DIP Socket
2 40000024 24 Pin DIP Socket
64 40100007 Lemo PC Mount
1 40200000 NIM Connector Block
1 40200001 NIM Connector Shield
7 40200002 NIM Elect. Pin
2 40200003 NIM Female Guide Pin
1 40200004 NIM Male Guide Pin
1 40200005 NIM Male Guide Pin Gold Plate
| 40200006 #4 Lock Washer Gold Plate
1 40200007 #4-40 Hex Nut Gold Plate
2 40950002 Solder Lug
1 58000102 Back Panel
1 58000103 Right Side Cover
1 58000104 Left Side Cover
2 58000105 Square Rail
2 58000106 Round Rail
SW1 1 50005003 Rotary Switch
1 50005004 Knob for Rotary Switch
1 58007570 Front Panel
4 65025603 2-36 x 3/16" Flat Head Phillips Screw
7 65144006 4-40 x 3/8" Round Head Phillips Screw
6 65044003 4-40 x 3/16" Flat Head Phillips Screw
1 65944004 4-40 x 1/4" Fillister Head Screw
10 65944005 4-40 x 5/16" Fillister Head Screw
1 67044000 4-40 Hex Nut
3 68000602 1/8" Nylon Shoulder Washer
2 73010000 Stand Off
2 73010001 Captive Screw
1 75000002 TO-3 Insulating Cover
1 85007570 Moedel 757/7157 Printed Circuit Board
1 85007571 Model 757-1/7157-1 Printed Circuit Board

Page 3 of 3



